6 ) NEBHRE

o

—{If (/B X BB

TONEOX BB, MAXEE

1 REZHFBRBRA S

2 s E I AAe BRI K — 4 REAT B0 FAR N B S B
HE -

»EEP62 ~ 63

@ 2.3:8 2.38 o 23818 0.01
X 24! X 24
> 952
47 6
57.12 - 5712180.01
3 IHMEBZEMOOTUREBRRE ©
Y
X 25
I'1 90
47 6
59.5Q - O TREHBRE » LM 59.5

NEETERIFER > BEPO L ~ 65
RBAE  BoLBih By RS BEF Y3t E -
()1 BE—FERHL0.52 AR wEEHFT 100 XREWHE
B BEETES S RWBRIEBHEZE SV AR?
G 1 EE@AT0.52X85=44.2(AR)
EE)sE#EZ AHEH 100—44.2 =55.8(AK)
At #55.8 2R

T E 6

FERE

oo —

NERIFRIE

61

r

EEs | BRA:

12
17
22
27
32
37




62 BFRE2%E

@) (BLa%18)

- BEE -
(1)8.4X6=( 50.4 )
(2)19.6X3=( 58.8 )
(3)5.7X40=( 228 )
(4)62.4X25=( 1560 )

Oz — /N R DL —
ARy E AR
e

OnEfE A s TSt
RN DL — ~ 1%
B teys e A e

@) VE) (FRaEem)
o RIS R T -
(H)—EREVEE.4N T » BEE 1 7EtHEIRYREDE -
HELDVNT?
04X7=2.8
B 2.8

Q) RAERLSAR » 22AERHHE—#E - R

N ?
1.5X22=33
P R VAN AN
am@ 00

) —{iINB X B

07?,_7?,_7% o (RMBUEEREH) (B3 £9)

1 0.3%x3 2 6.8X17 8 12.4%15

0.3 6.8 | 2.4
X 3 X 7 X | 5
0.9 47.6 620
| 24
| 86.Q

@ etk i SRR TR o REBGKERSE) (BAESH %20)

1 —&#HMmF 05N BIEE 2 E | ARG E20.4 2
To6& AREAES DN % BlA R K 6 AR

we2fd #EFLaxe  ®end
0.5X6=3 20.4X6=122.4
0.5 20.4
X 6 X 6
3.8 | 22.4
A3 K 1224005,

3 — Wb 4E85.7T0% 4 —HwE25.3,07 184
208X F L VN ? FlEgayh £ELDVANT?
85.7X20=1714 =2p73 25.3X18=455.4 2p73 )

85.7 25.3
X 20 X | 8
| 71 4.8 202 4
253
455.4
LIS 3 K455 4N

62 EAFEAET2 T3R



O ZRIME

/«/«/«!«E‘
(1)0.94X3=( 2.82 )
(2)0.65><8=( 52 )

@) WD) (FRatEemE)

- TEHEERIE SRS Tk

= abo)

(D)—ZEHBEE10.652 T » 6= AHFAY BT E

ZHRT?

(3)2.72X19=( 51.68 )
(4)8.16 X 34=(277.44)

FEAREIT NBHIRE 63

B)— I RKIE2.540 57 » 600t Ry th ] DIER &

KB Dot 2
2.54X60=152.4

& L RI15240857

HIRTHHEE/K SEES 15858 » FIRRAYEEZK408 7 -

SR/ \TT P
5.15X40=206

G VEFITH0.33LTFF - IBI5E T 15

JI>/NTFL 9
10.65X6=63.9 w o ong BT
~ ~ » o 033X 15=4.95
Q)FHEUES.46 » ZEUEHEIII26% » Z8EZAD 2
8.46X 12=101.52 % 101.52
&GP — s xEY
()””* o MRBUERERSH) B3N £
1 0.08 X7 2 7.57X9 3 2.08 X35
0.08 757 208
X 7 X X 35
056 68.13 10 40
62 4
72.89

@it f SRR T R o RIUEERSE) (BE55

1 &% 2FK0.852R &

b6FREFHHER 7 — %
k% VR =2r A
0.85X6=5.|
0.85
X 6
5.1 Q
ZBIAR

' 2204

2 e NE—BEeyIERET 3.05
¥ FFBRENERHSE
—HT S5V NE? 2B
3.05X5=15.25

3.05
X 5
15.25

15250 E

3 —rfRUR2.542% 207
EWH AR T R AE S VN

a9 2p75 A
254X20=50.8
2.54
X 20
50.8Q
A #450.8 %

4 | ~IregHEK SN 4. 35
o R Ak ey MR 25 A dt
THER N ? VLY o)
4.35X25=108.75

4.35
X 25
2175

870
108.75

4:108. 7523,
BRA®AFTLT5E 63

20601
GERES

@ vk — /N EL—
R E R A R
il

Oy A E g - =
RN — ~ %
BT

(ws|om: O
I 2 3 4 5
6 7 8 9 10
I 12 13 14 15

6 17 18 19 20
21 22 23 24 25
26 27 28 29 30
31 32 33 34 35
36 37 38 39 40




64

@) -GN (EASE1E)
 EMEERIEZE K -

()—BAEFEIEL B3R » Eor24E - BERE
205 R ERMTIRRES D AR ?

2.05X24=1492
49.2+1.73=50.93
& 1509340
Q) ARIEZEHEIIASZ17.287C » ERFH0TEH -
[EIRERIEEATE H25A4 » af DU It 2
20—17.28=2.72
2.72X25=68

%6870

QGYEKA0LT » SEEFRIZHE .25 7 » B2 HA%R
BRI TRAT 2
TX2=14
1.25X14=175
40—17.5=22.5
B 22508

QfF v L FE B R B
(TR ~ 3fe i) 1Y/ NEURE

INRETEER

IR @ ietirf BB T R o RERKERSS) BT %429)
1 TABRBEOLS NEoh:EHE 58T ISR BFTF0.62 2 E
BB ARG ERAEKRESL DV NE? 2r76
0.45X15=6.75
6.75+0.62=7.37

13T AE

64 ®AERAFTOR

2 XEE—HBBEFEZISTL —BREFEHRAZLII.TS T’
El e R TFEEHR 268 £ THIF S V2 @p76 B
15=11.75=3.25 B ENEERSER
3.25X24="13 2ESH9520 |

LD
A :T87T

S XA EMEE 138 et FH | RAMI.55 078
koA TRmENE  BHTANF? 2 P76 D
TX2=\4
955X 14=133.7
138—133.7=4.3

KL 3NF



DA —F L R ARKIE0.640 R - ihEE— 15
FARKIZ0.72AR -
O A FIFRE[EHuE ST 158 73588 » IAKK

GHEZ AR ? GHHBEZ AR ?
0.72—0.64=0.08 0.64+0.72=1.36
0.08X35=2.8 1.36X20=27.2

4 KAKE—sEEK22.5 07 IRE—5EEK 4.9 2
MR KB B EEKD s £IEAS D AFRKk? 2P
225+149=374
37.4X5=187

D3

2187/~ F

B ik — St H EALL 054 AR HitE— B WIS ERY
£ 0.62/ 2R > MARBREME Y G&E28 1% MARAE
FEE % VN R? =

2r77 8
0.62—0.54=0.08 a5 é

0.08X28=224 0.54m

0.62m

B2 24 R
6 %5 M HAFERMR 6 &L L0 FH - HAKG G

BE% VIR ? 2,778
0.54+0.62=I.16 12 5

.16 X40=46.4

>

<

LN N |
0.54m<  +»0.62m

B 46.4LAR

BRAERAFTTR 65

FEAREIT NBHIRE 65

ORI AR [ ST 1725 E 7205 1% » W AKKY

ZHRT2ZAR

O P A 3 155 A B
(RN ~ el By /N
FfE

(ws|om: O
I 2 3 4 5
6 7 8 9 10
I 12 13 14 15

6 17 18 19 20
21 22 23 24 25
26 27 28 29 30
31 32 33 34 35
36 37 38 39 40




66 BFRE2%E

©CIVEY) (EasEE)
- B HIEE -

(@)-={ V=]

(Bc&%E28)

- fE[ A ERERET -

(1)2075 X 4=8300 (2)362X 18=6516 A 2 6 6 @) [7]. 4 6
20.75X4=( 83 ) 36.2X18=(651.6) % X [9]
20.75X40=( 830 ) 36.2X180=(6516) 7 9 8 6 7.1 4
207.5X40=( 8300 ) 3.62X180=(651.6)

(3) [6] 7 4) 5 [4]3
X 1 6 X 2 4
0 2 2 1 7][2]
8 [6] 7 [1][o] 8 6
13 8 .[7][2] [1](3][0]. 3 [2]

(1 FEEREINEN QO e
ST IESIPERN CAaa v
&

(2 FEINEUN GO e n
BRI - e B R ze
[

)55 @ @ FE e

G#E.—ﬁ CHLME o (545
1 1054 X5 =5270

10.54X5=( 527 )
10.54X50=( 527 )
105.4X50=( 5270 )

2 AL T N2 T

1

2.0 9

X q

1/8.8

£24%)

2 2345X 15=35175
23.45X |5=( 35175 )
2345 X 150 =( 351750 )
234.5X |50 =( 35175 )

w
ol 5]

3
6.1 8
X 5 2
| 2 3 6
9 0

E o

66 LEAPRE




@)D (FiAE3®)
o JEMEERIE A TR -

FEAREIT NBHIRE 67

(DA — M 70 28 S RBYR — B - BT T QuEFE N L #HASOA T EK » I K
258 » BRI T 0130 R GERME TR RES 25680 —EH®R > ER 2D ATHEK?

R? 2.56X30=76.8 (—fEH30K)
0.28 X25=7 80—76.8=3.2 32N T
7+0.13=7.13 E 113 @) — A EA R0 16 AR T > —

Q) AV EL. ST - % - E TR
T34 T - B L BIN A ETRE R A T 2 NI 2

w16 - BRI N40=TT - SRR AR %

2.5—134=1.16 0.16X16=2.56 * 40ZF=0.04\TF

1.16X2=2.32 B 232087 2.56+0.04=2.6

@bt f S BT R - MREUEEESH) (BH12 %365
1 bhikde — 5@ 0.48 AR TR —F » £ T 28 & » BHT
0.25 AR » BB REIAE 5K 2
0.48X28=13.44
13.44+0.25=13.69

HAERIER —RE0 AT EHM  FHERAR0.27T 27
wAEEER > BRT 5D AT BHE 2

TX2=14

0.27X14=3.78

50—3.78=46.22

K L6220

Ty E 0.34 AT EEEN0.95 AT ey o BEE
T Bk XEL DN ?

0.34+0.95=1.29

1.29x8=10.32

HAERE 67

O fiR A4 1 155 A B
(RN ~ S ry /NG
HARE

(ws|om: O
I 2 3 4 5
6 7 8 9 10
I 12 13 14 15

6 17 18 19 20
21 22 23 24 25
26 27 28 29 30
31 32 33 34 35
36 37 38 39 40




68 BFmES2%E

SENEE) (BRaE188)

SN (BRa 288

- I - - H TERERFRORE 5 BECE -
(1)4.68FHY4ZRIR( 4 ) > (FME 1) (1)0.61=_1X0+0.1X6+0.01 X1
67 ( 0.6 ) * (EK6A#H0.1) (2)17.06=_10X1+1X74+0.1X0+0.01 X6
83%7( 0.08 ) © (E81E0.01) (3)40.29= 10X4+1X0+0.1 X2+0.01 X9

F T8RRI BORR
( 4.68=1X4-+0.1X6+0.01X8 )=
(2)24.429F 8922 EH 4R 2/9( 1000 )5 - 42

04 10 HfE -

(112 BiE g AN
Fytae i ok

i 0 =
Q=2 (H 54 1) (H2180.1) Tr00@

7 ( 5 ) 2F&7m(C 02 )
Y A T Eey b AR ) e
( 5.29=1X5+0.1X2+0.01X9 ) o

2 36.63 vy t+m3ABa M3 1000 )fE-
BAL 6 &+ 54 6 8 ( 10 YAE o

ODreTaosA "THuFRaRTE itk o #r00

10.76 =( IX0+0.1X7+0.01 X6 )
2 8.05 =( | X8+0.1X0+0.01X5 )
3 13.12=( 10X 1+1X3+0.1X1+0.01X2 )
4 20.09 =( 10X2+1X0+0.1X0+0.01X9 )

68 BLAHEAEB0E



